# Commission Meeting Agenda



# <u>Mayor</u>

Samuel D. Cobb

# **City Commission**

R. Finn Smith – District 1

Christopher R. Mills - District 2

Larron B. Fields - District 3

Joseph D. Calderón – District 4

Dwayne Penick - District 5

Don R. Gerth - District 6

# City Manager

Manny Gomez



# **Hobbs City Commission**

# \*\*Special Meeting\*\*

City Hall, City Commission Chamber 200 E. Broadway, 1<sup>st</sup> Floor Annex, Hobbs, New Mexico

## Monday, December 11, 2023 - 6:00 p.m.

Sam D. Cobb, Mayor

R. Finn Smith
Commissioner – District 1
Joseph D. Calderón
Commissioner – District 4

Christopher R. Mills
Commissioner – District 2
Dwayne Penick

Dwayne Penick Commissioner – District 5 Larron B. Fields Commissioner – District 3

Don R. Gerth Commissioner – District 6

### AGENDA

City Commission Meetings are Broadcast Live on KHBX FM 99.3 Radio and Available via Livestream at www.hobbsnm.org

### **CALL TO ORDER AND ROLL CALL**

### **INVOCATION AND PLEDGE OF ALLEGIANCE**

**PUBLIC COMMENTS** (Citizens who wish to speak must sign the Public Comment Registration Form located in the Commission Chamber prior to the beginning of the meeting.)

**CONSENT AGENDA** (The consent agenda is approved by a single motion. Any member of the Commission may request an item to be transferred to the regular agenda from the consent agenda without discussion or vote.)

None

### **DISCUSSION**

None

### **ACTION ITEMS** (Ordinances, Resolutions, Public Hearings)

 Consideration of Approval of Project Award for Bid No. 1606-24 Hobbs CDBG Infrastructure Improvements and Recommendation to Award Bid Lot 1 to Ramirez & Sons, Inc., in the Amount of \$983,366.00 (Todd Randall, City Engineer)

### **COMMENTS BY CITY COMMISSIONERS, CITY MANAGER**

- 2. Next Meeting Dates:
  - City Commission Regular Meetings:
    - Monday, December 18, 2023, at 6:00 p.m.
    - Monday, January 8, 2024, at 6:00 p.m.
    - Monday, January 22, 2024, at 6:00 p.m.

### **ADJOURNMENT**

If you are an individual with a disability who needs a reader, amplifier, qualified sign language interpreter, or any other form of auxiliary aid or service to attend or participate in the above meeting, please contact the City Clerk's Office at (575) 397-9200 at least 72 hours prior to the meeting or as soon as possible. Public documents, including the agenda and minutes, can be provided in various accessible formats. Please contact the City Clerk's Office if a summary or other type of accessible format is needed.



### CITY OF HOBBS

COMMISSION STAFF SUMMARY FORM

MEETING DATE: December 11th, 2023

SUBJECT: CONSIDERATION OF PROJECT AWARD FOR BID NO. 1606-24 2021 HOBBS CDBG INFRASTRUCTURE IMPROVEMENTS CDGB NO. 21-C-NR-I-01-G-12

**DEPT. OF ORIGIN:** 

**Engineering Department** 

**DATE SUBMITTED:** 

12-7-23

SUBMITTED BY:

Todd Randall, City Engineer

### Summary:

Bids were opened at 2:00 PM on Tuesday, October 10, 2023 for the 2021 Hobbs CDBG Infrastructure Improvements Project, CDBG Grant Number 21-C-NR-I-01-G-12. The project consists of complete pavement reconstruction as well as curb and gutter, sidewalk and ADA improvements in a residential area. The project will construct street & drainage improvements on Midwest Street from Dal Paso through the intersection of Jefferson and on First, Farquhar and Jefferson from the alley north of Skelly to Main St.

An advertisement was placed in the local newspaper on September 21, 2023. Three bids were submitted.

Contractor	Bid Lot 1	Bid Lot 2	Bid Lot 3	Bid Lot 4	Bid Lot 5	Bid Lot 6
Ramirez & Sons Inc.	\$983,366.00	\$1,266,648.00	\$1,562,723.00	\$1,841,501.00	\$1,965,822.00	\$2,325,259.00
Constructors, Inc.	\$1,689,044.50	\$2,123,264.50	\$2,599.203.50	\$3,068,484,50	\$3,335,318.50	\$3,892,876.50
J&H Services, Inc.	\$2,076,566.50	\$2,619,195.30	\$3,228,364.10	\$3,766,433.90	\$4,028,513.30	\$4,567,848.10

Ramirez & Sons, Inc. is the lowest bidder. They are properly licensed and their registration with the NMDWS is current. Ramirez & Sons, Inc. has completed projects for the City of Hobbs in the past and is a proven and reputable contractor.

In accordance with the above narrative and available budget, it is the recommendation of the Engineering Department that Bid Lot 1 for construction of the project be awarded to Ramirez & Sons, Inc., as low bidder in the amount of the total bid amount of \$983,366.00 (not including tax), contingent of funding agency approval.

Fiscal Impact:		Reviewed By: _	Egylah yayuday faby sesas CIL CIA Di son-lah yasas CIL CIA a-Cay alkaba, di son-lah yasas CIL CI
Budget Line: Budgeted Available:	37-4037-44901-0 \$1,250,000.00	0326 (\$750,000 CDBG Fund	
Estimated Construction Cost: Admin/Testing/Other NMGRT: Project Total:	\$983,366.00 \$50,000.00 \$67,814.64 \$1,101,180.64	(Bid Lot 1) (Hobbs @ 6.5625%)	
Attachments: Certified Bid Tabulation Shee	ets		
Legal Review:	Арр	proved As To Form: _	/s/ Valerie s. Chacon  City Attorney
Recommendation:  Consideration and Award of B  Project to Ramirez & Sons Inc			CDBG Infrastructure Improvements

Continued To: \_\_\_\_\_Referred To: \_\_\_\_\_

File No. \_\_\_\_\_

Approved For Submittal By: CITY CLERKS USE ONLY COMMISSION ACTION TAKEN TODD RANDALL CN-T Resolution No. \_\_\_\_\_Ordinance No. \_\_\_\_\_ Depart porting Approved \_\_\_\_\_ Manny Gomez City Manager Other

BID LOT 1	TABULATION SHEET														
2021 Hobbs	CDBG Infrastructure Improvemen	ts													
CDBG No. 2 Bid No. 160	21-C-NR-I-01-G-12 6-24			F	RAMIREZ 8	s SC	NS INC.		CONSTRUC	то	RS, INC.		J&H SERV	ICE	S, INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UI	NIT PRICE	тс	TAL COST	U	INIT PRICE	тс	TAL COST	UI	NIT PRICE	тс	TAL COST
203000	UNCLASSIFIED EXCAVATION	CY	1483	\$	14.00	\$	20,762.00	\$	14.00	\$	20,762.00	\$	22.00	\$	32,626.00
203200	SUBEXCAVATION	CY	1306	\$	34.00	\$	44,404.00	\$	45.00	\$	58,770.00	\$	56.00	\$	73,136.00
207000	SUBGRADE PREPARATION	SY	9965	\$	3.00	\$	29,895.00	\$	3.00	\$	29,895.00	\$	3.40	\$	33,881.00
303160	BASE COURSE 6"	SY	9965	\$	7.00	\$	69,755.00	\$	10.00	\$	99,650.00	\$	17.50	\$	174,387.50
408100	PRIME COAT MATERIAL	TON	18	\$	550.00	\$	9,900.00	\$	650.00	\$	11,700.00	\$	1,100.00	\$	19,800.00
423270	2" HMA SP IV COMPLETE	SY	9965	\$	18.00	\$	179,370.00	\$	13.50	\$	134,527.50	\$	21.00	\$	209,265.00
533000	REPAIR OF CONCRETE STRUCTURES	SY	16	\$	750.00	\$	12,000.00	\$	1,200.00	\$	19,200.00	\$	685.00	\$	10,960.00
601000	REMOVAL OF STRUCURES AND OBSTRUCTIONS	LS	1	\$	20,000.00	\$	20,000.00	\$	165,000.00	\$	165,000.00	\$	155,250.00	\$	155,250.00
603281	SWPPP DESIGN, IMPLEMENTATION & MANAGEMENT	LS	1	\$	4,500.00	\$	4,500.00	\$	4,500.00	\$	4,500.00	\$	6,000.00	\$	6,000.00
607199	REMOVE AND REBUILD FENCE	LS	1	\$	20,000.00	\$	20,000.00	\$	25,000.00	\$	25,000.00	\$	45,000.00	\$	45,000.00
608004	CONCRETE SIDEWALK 4"	SY	2010	\$	85.00	\$	170,850.00	\$	130.00	\$	261,300.00	\$	142.00	\$	285,420.00
608106	DRIVE PAD 6"	SY	1222	\$	90.00	\$	109,980.00	\$	170.00	\$	207,740.00	\$	225.00	\$	274,950.00
608118	CONCRETE FILLET - 8"	SY	267	\$	100.00	\$	26,700.00	\$	185.00	\$	49,395.00	\$	240.00	\$	64,080.00
609500	STANDARD CURB & GUTTER	LF	3160	\$	28.00	\$	88,480.00	\$	42.00	\$	132,720.00	\$	55.00	\$	173,800.00
609696	CONCRETE VALLEY GUTTER 8" X 60"	LF	224	\$	100.00	\$	22,400.00	\$	120.00	\$	26,880.00	\$	144.00	\$	32,256.00
609706	CONCRETE LAYDOWN CURB 6"	LF	1335	\$	28.00	\$	37,380.00	\$	41.00	\$	54,735.00	\$	47.00	\$	62,745.00
618000	TRAFFIC CONTROL MANAGEMENT	LS	1	\$	15,000.00	\$	15,000.00	\$	65,000.00	\$	65,000.00	\$	76,000.00	\$	76,000.00
621000	MOBILIZATION	LS	1	\$	12,900.00	\$	12,900.00	\$	167,000.00	\$	167,000.00	\$	100,000.00	\$	100,000.00
623501	TRANSVERSE DROP INLET TYPE I, 0' TO 8'	EA	1	\$	35,600.00	\$	35,600.00	\$	45,000.00	\$	45,000.00	\$	86,000.00	\$	86,000.00
662400	MANHOLE ADJUSTMENT	EA	8	\$	800.00	\$	6,400.00	\$	900.00	\$	7,200.00	\$	800.00	\$	6,400.00

Page 1 of 12 BID LOT 1

BID LOT 1	TABULATION SHEET													
	CDBG Infrastructure Improvemer 21-C-NR-I-01-G-12 6-24	nts			RAMIREZ &	so	NS INC.	CONSTRUC	TOF	RS, INC.		J&H SERV	ICES	S, INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	U	NIT PRICE	TC	TAL COST	UNIT PRICE	то	TAL COST	UN	IIT PRICE	тот	TAL COST
662500	MANHOLE FRAME AND COVER	EA	8	\$	1,150.00	\$	9,200.00	\$ 1,200.00	\$	9,600.00	\$	1,755.00	\$	14,040.00
663855	ADJUST VALVE BOX TO GRADE	EA	3	\$	230.00	\$	690.00	\$ 750.00	\$	2,250.00	\$	550.00	\$	1,650.00
663890	VALVE BOX WITH COVER	EA	3	\$	1,000.00	\$	3,000.00	\$ 350.00	\$	1,050.00	\$	720.00	\$	2,160.00
667004	MISCELLANEOUS LANDSCAPING	LS	1	\$	300.00	\$	300.00	\$ 4,500.00	\$	4,500.00	\$	5,500.00	\$	5,500.00
667110	MAILBOX INSTALLATION -SINGLE	EA	18	\$	400.00	\$	7,200.00	\$ 600.00	\$	10,800.00	\$	2,750.00	\$	49,500.00
701000	PANEL SIGNS	SF	110	\$	40.00	\$	4,400.00	\$ 47.00	\$	5,170.00	\$	72.00	\$	7,920.00
701100	STEEL POST AND BASE POST FOR PANEL SIGNS	LF	140	\$	20.00	\$	2,800.00	\$ 30.00	\$	4,200.00	\$	41.00	\$	5,740.00
701200	TRIANGULAR SLIP BASE SYSTEM	EA	10	\$	350.00	\$	3,500.00	\$ 550.00	\$	5,500.00	\$	550.00	\$	5,500.00
801000	CONSTRUCTION STAKING BY THE CONTRACTOR	LS	1	\$	16,000.00	\$	16,000.00	\$ 60,000.00	\$	60,000.00	\$	62,600.00	\$	62,600.00
		TOTAL E	SID LOT 1	\$		g	83,366.00	\$	1,68	89,044.50	\$		2,07	76,566.50

I hereby certify that the above figures are the same as those submitted in the Bid Proposals except for the corrected items marked with and asterisk (\*).

BID LOT 2	TABULATION SHEET														
2021 Hobbs	s CDBG Infrastructure Improvemen	ts													
CDBG No. 2 Bid No. 160	21-C-NR-I-01-G-12 16-24			F	RAMIREZ 8	so.	NS INC.	(	CONSTRUC	то	RS, INC.		J&H SERV	ICE	S, INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UI	NIT PRICE	тс	TAL COST	U	NIT PRICE	TC	TAL COST	U	NIT PRICE	тс	TAL COST
203000	UNCLASSIFIED EXCAVATION	CY	1944	\$	14.00	\$	27,216.00	\$	14.00	\$	27,216.00	\$	22.00	\$	42,768.00
203200	SUBEXCAVATION	CY	1717	\$	34.00	\$	58,378.00	\$	45.00	\$	77,265.00	\$	56.00	\$	96,152.00
207000	SUBGRADE PREPARATION	SY	13157	\$	3.00	\$	39,471.00	\$	3.00	\$	39,471.00	\$	3.40	<u> </u>	44,733.80
303160	BASE COURSE 6"	SY	13157	\$	7.00	\$	92,099.00	\$	10.00	\$	131,570.00	\$	17.50	<u> </u>	230,247.50
408100	PRIME COAT MATERIAL	TON	24	\$	550.00	\$	13,200.00	\$	650.00	\$	15,600.00	\$	1,100.00	\$	26,400.00
423270	2" HMA SP IV COMPLETE	SY	13157	\$	18.00	\$	236,826.00	\$	13.50	\$	177,619.50	\$	21.00	\$	276,297.00
533000	REPAIR OF CONCRETE STRUCTURES	SY	16	\$	750.00	\$	12,000.00	\$	1,200.00	\$	19,200.00	\$	685.00	\$	10,960.00
601000	REMOVAL OF STRUCURES AND OBSTRUCTIONS	LS	1	\$	24,000.00	\$	24,000.00	\$	185,000.00	\$	185,000.00	\$	193,000.00	\$	193,000.00
603281	SWPPP DESIGN, IMPLEMENTATION & MANAGEMENT	LS	1	\$	4,700.00	\$	4,700.00	\$	4,700.00	\$	4,700.00	\$	6,000.00	\$	6,000.00
607199	REMOVE AND REBUILD FENCE	LS	1	\$	20,000.00	\$	20,000.00	\$	25,000.00	\$	25,000.00	\$	45,000.00	\$	45,000.00
608004	CONCRETE SIDEWALK 4"	SY	2692	\$	85.00	\$	228,820.00	\$	130.00	\$	349,960.00	\$	142.00	\$	382,264.00
608106	DRIVE PAD 6"	SY	1594	\$	90.00	\$	143,460.00	\$	170.00	\$	270,980.00	\$	225.00	<u> </u>	358,650.00
608118	CONCRETE FILLET - 8"	SY	343	\$	100.00	\$	34,300.00	\$	185.00	\$	63,455.00	\$	240.00	\$	82,320.00
609500	STANDARD CURB & GUTTER	LF	4247	\$	28.00	\$	118,916.00	\$	42.00	\$	178,374.00	\$	55.00	\$	233,585.00
609696	CONCRETE VALLEY GUTTER 8" X 60"	LF	290	\$	100.00	\$	29,000.00	\$	120.00	\$	34,800.00	\$	144.00	\$	41,760.00
609706	CONCRETE LAYDOWN CURB 6"	LF	1764	\$	28.00	\$	49,392.00	\$	41.00	\$	72,324.00	\$	47.00	\$	82,908.00
618000	TRAFFIC CONTROL MANAGEMENT	LS	1	\$	15,000.00	\$	15,000.00	\$	65,000.00	\$	65,000.00	\$	76,000.00	\$	76,000.00
621000	MOBILIZATION	LS	1	\$	15,000.00	\$	15,000.00	\$	212,000.00	\$	212,000.00	\$	100,000.00	\$	100,000.00
623501	TRANSVERSE DROP INLET TYPE I, 0' TO 8'	EA	1	\$	35,600.00	\$	35,600.00	\$	45,000.00	\$	45,000.00	\$	86,000.00	\$	86,000.00
662400	MANHOLE ADJUSTMENT	EA	10	\$	800.00	\$	8,000.00	\$	900.00	\$	9,000.00	\$	800.00	\$	8,000.00

Page 3 of 12 BID LOT 2

BID LOT 2	TABULATION SHEET														
	CDBG Infrastructure Improvemer 21-C-NR-I-01-G-12 6-24	nts		R	AMIREZ &	so	NS INC.		CONSTRUC	TORS, II	NC.	J8	&H SERV	ICES	S, INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IT PRICE	тс	TAL COST		UNIT PRICE	TOTAL	COST	דואט	PRICE	то	TAL COST
662500	MANHOLE FRAME AND COVER	EA	10	\$	1,150.00	\$	11,500.00		\$ 1,200.00	\$ 12,	00.00	\$	1,755.00	\$	17,550.00
663855	ADJUST VALVE BOX TO GRADE	EA	4	\$	230.00	\$	920.00		\$ 750.00	\$ 3	,000.00	\$	550.00	\$	2,200.00
663890	VALVE BOX WITH COVER	EA	4	\$	1,000.00	\$	4,000.00	I	\$ 350.00	\$ 1	,400.00	\$	720.00	\$	2,880.00
667004	MISCELLANEOUS LANDSCAPING	LS	1	\$	300.00	\$	300.00		\$ 4,500.00	\$ 4	,500.00	\$	5,500.00	\$	5,500.00
667110	MAILBOX INSTALLATION -SINGLE	EA	24	\$	400.00	\$	9,600.00		\$ 600.00	\$ 14,	400.00	\$	2,750.00	\$	66,000.00
701000	PANEL SIGNS	SF	140	\$	40.00	\$	5,600.00		\$ 47.00	\$ 6	,580.00	\$	72.00	\$	10,080.00
701100	STEEL POST AND BASE POST FOR PANEL SIGNS	LF	190	\$	20.00	\$	3,800.00		\$ 30.00	\$ 5	,700.00	\$	41.00	\$	7,790.00
701200	TRIANGULAR SLIP BASE SYSTEM	EA	13	\$	350.00	\$	4,550.00		\$ 550.00	\$ 7	,150.00	\$	550.00	\$	7,150.00
801000	CONSTRUCTION STAKING BY THE CONTRACTOR	LS	1	\$	21,000.00	\$	21,000.00		\$ 65,000.00	\$ 65,	00.00	\$	77,000.00	\$	77,000.00
		TOTAL B	BID LOT 2	\$		1,2	66,648.00		\$	2,123,20	64.50	\$		2,63	19,195.30

I hereby certify that the above figures are the same as those submitted in the Bid Proposals except for the corrected items marked with and asterisk (\*).

BID LOT 3	TABULATION SHEET					***									
2021 Hobbs	s CDBG Infrastructure Improvemen	ts													
CDBG No. 2 Bid No. 160	21-C-NR-I-01-G-12 06-24			R	AMIREZ &	SO	NS INC.		CONSTRUC	то	RS INC.		J&H SERV	ICE	S INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IIT PRICE	TC	TAL COST	į	JNIT PRICE	TC	TAL COST	U	NIT PRICE	TC	TAL COST
203000	UNCLASSIFIED EXCAVATION	CY	2397	\$	14.00	\$	33,558.00	\$	14.00	\$	33,558.00	\$	22.00	\$	52,734.00
203200	SUBEXCAVATION	CY	2232	\$	34.00	\$	75,888.00	\$	45.00	\$	100,440.00	\$	56.00	\$	124,992.00
207000	SUBGRADE PREPARATION	SY	16309	\$	3.00	\$	48,927.00	\$	3.00	\$	48,927.00	\$	3.40	\$	55,450.60
303160	BASE COURSE 6"	SY	16309	\$	7.00	\$	114,163.00	\$	10.00	\$	163,090.00	\$	17.50	\$	285,407.50
408100	PRIME COAT MATERIAL	TON	30	\$	550.00	\$	16,500.00	\$	650.00	\$	19,500.00	\$	1,100.00	\$	33,000.00
423270	2" HMA SP IV COMPLETE	SY	16309	\$	18.00	\$	293,562.00	\$	13.50	\$	220,171.50	\$	21.00	\$	342,489.00
533000	REPAIR OF CONCRETE STRUCTURES	SY	16	\$	750.00	\$	12,000.00	\$	1,200.00	\$	19,200.00	\$	685.00	\$	10,960.00
601000	REMOVAL OF STRUCURES AND OBSTRUCTIONS	LS	1	\$	31,000.00	\$	31,000.00	\$	215,000.00	\$	215,000.00	\$	234,000.00	\$	234,000.00
603281	SWPPP DESIGN, IMPLEMENTATION & MANAGEMENT	LS	1	\$	4,900.00	\$	4,900.00	\$	4,800.00	\$	4,800.00	\$	6,000.00	\$	6,000.00
607199	REMOVE AND REBUILD FENCE	LS	1	\$	20,000.00	\$	20,000.00	\$	25,000.00	\$	25,000.00	\$	45,000.00	\$	45,000.00
608004	CONCRETE SIDEWALK 4"	SY	3243	\$	85.00	\$	275,655.00	\$	130.00	\$	421,590.00	\$	142.00	\$	460,506.00
608106	DRIVE PAD 6"	SY	2189	\$	90.00	\$	197,010.00	\$	170.00	\$	372,130.00	\$	225.00		492,525.00
608118	CONCRETE FILLET - 8"	SY	419	\$	100.00	\$	41,900.00	\$	185.00	\$	77,515.00	\$	240.00	\$	100,560.00
609500	STANDARD CURB & GUTTER	LF	5212	\$	28.00	\$	145,936.00	\$	42.00	\$	218,904.00	\$	55.00	\$	286,660.00
609696	CONCRETE VALLEY GUTTER 8" X 60"	LF	356	\$	100.00	\$	35,600.00	\$	120.00	\$	42,720.00	\$	144.00	\$	51,264.00
609706	CONCRETE LAYDOWN CURB 6"	LF	2248	\$	28.00	\$	62,944.00	\$	41.00	\$	92,168.00	\$	47.00	\$	105,656.00
618000	TRAFFIC CONTROL MANAGEMENT	LS	1	\$	15,000.00	\$	15,000.00	\$	75,000.00	\$	75,000.00	\$	76,000.00	\$	76,000.00
621000	MOBILIZATION	LS	1	\$	16,000.00	\$	16,000.00	\$	250,000.00	\$	250,000.00	\$	100,000.00	\$	100,000.00
623501	TRANSVERSE DROP INLET TYPE I, 0' TO 8'	EA	1	\$	35,600.00	\$	35,600.00	\$	45,000.00	\$	45,000.00	\$	86,000.00	\$	86,000.00
662400	MANHOLE ADJUSTMENT	EA	12	\$	800.00	\$	9,600.00	\$	900.00	\$	10,800.00	\$	800.00	\$	9,600.00

Page 5 of 12 BID LOT 3

BID LOT 3	TABULATION SHEET		(A)											
	s CDBG Infrastructure Improvemer 21-C-NR-I-01-G-12 6-24	ts		R	AMIREZ &	so	NS INC.	CONSTRUC	то	RS INC.		J&H SERV	ICE:	S INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IIT PRICE	TC	TAL COST	UNIT PRICE	то	TAL COST	UI	NIT PRICE	TO	TAL COST
662500	MANHOLE FRAME AND COVER	EA	12	\$	1,150.00	\$	13,800.00	\$ 1,200.00	\$	14,400.00	\$	1,755.00	\$	21,060.00
663855	ADJUST VALVE BOX TO GRADE	EA	6	\$	230.00	\$	1,380.00	\$ 750.00	\$	4,500.00	\$	550.00	\$	3,300.00
663890	VALVE BOX WITH COVER	EA	6	\$	1,000.00	\$	6,000.00	\$ 350.00	\$	2,100.00	\$	720.00	\$	4,320.00
667004	MISCELLANEOUS LANDSCAPING	LS	1	\$	300.00	\$	300.00	\$ 4,500.00	\$	4,500.00	\$	30,000.00	\$	30,000.00
667110	MAILBOX INSTALLATION -SINGLE	EA	32	\$	400.00	\$	12,800.00	\$ 600.00	\$	19,200.00	\$	2,750.00	\$	88,000.00
701000	PANEL SIGNS	SF	170	\$	40.00	\$	6,800.00	\$ 47.00	\$	7,990.00	\$	72.00	\$	12,240.00
701100	STEEL POST AND BASE POST FOR PANEL SIGNS	LF	240	\$	20.00	\$	4,800.00	\$ 30.00	\$	7,200.00	\$	41.00	\$	9,840.00
701200	TRIANGULAR SLIP BASE SYSTEM	EA	16	\$	350.00	\$	5,600.00	\$ 550.00	\$	8,800.00	\$	550.00	\$	8,800.00
801000	CONSTRUCTION STAKING BY THE CONTRACTOR	LS	1	\$	25,500.00	\$	25,500.00	\$ 75,000.00	\$	75,000.00	\$	92,000.00	\$	92,000.00
		TOTAL B	SID LOT 3	\$		1,5	62,723.00	\$	2,5	99,203.50	\$		3,2	28,364.10

I hereby certify that the above figures are the same as those submitted in the Bid Proposals except for the corrected items marked with and asterisk (\*).

BID LOT 4	TABULATION SHEET														
2021 Hobbs	s CDBG Infrastructure Improvemen	its													
CDBG No. 2 Bid No. 160	21-C-NR-I-01-G-12 06-24			R	AMIREZ &	so	NS INC.		CONSTRUC	сто	RS INC.		J&H SERV	/ICE	S INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IIT PRICE	TC	TAL COST		UNIT PRICE	TC	OTAL COST	UI	NIT PRICE	тс	TAL COST
203000	UNCLASSIFIED EXCAVATION	CY	2851	\$	14.00	\$	39,914.00	\$	14.00	\$	39,914.00	\$	22.00	\$	62,722.00
203200	SUBEXCAVATION	CY	2665	\$	34.00	\$	90,610.00	\$	45.00	\$	119,925.00	\$	56.00	\$	149,240.00
207000	SUBGRADE PREPARATION	SY	19251	\$	3.00	\$	57,753.00	\$	3.00	\$	57,753.00	\$	3.40	\$	65,453.40
303160	BASE COURSE 6"	SY	19251	\$	7.00	\$	134,757.00	\$	10.00	\$	192,510.00	\$	17.50	\$	336,892.50
408100	PRIME COAT MATERIAL	TON	36	\$	550.00	\$	19,800.00	\$	650.00	\$	23,400.00	\$	1,100.00	\$	39,600.00
423270	2" HMA SP IV COMPLETE	SY	19251	\$	18.00	\$	346,518.00	\$	13.50	\$	259,888.50	\$	21.00	\$	404,271.00
533000	REPAIR OF CONCRETE STRUCTURES	SY	16	\$	750.00	\$	12,000.00	\$	1,200.00	\$	19,200.00	\$	685.00	\$	10,960.00
601000	REMOVAL OF STRUCURES AND OBSTRUCTIONS	LS	1	\$	37,000.00	\$	37,000.00	\$	250,000.00	\$	250,000.00	\$	271,000.00	\$	271,000.00
603281	SWPPP DESIGN, IMPLEMENTATION & MANAGEMENT	LS	1	\$	5,100.00	\$	5,100.00	\$	4,800.00	\$	4,800.00	\$	6,000.00	\$	6,000.00
607199	REMOVE AND REBUILD FENCE	LS	1	\$	20,000.00	\$	20,000.00	\$	25,000.00	\$	25,000.00	\$	45,000.00	\$	45,000.00
608004	CONCRETE SIDEWALK 4"	SY	3889	\$	85.00	\$	330,565.00	\$	130.00	\$	505,570.00	\$	142.00		552,238.00
608106	DRIVE PAD 6"	SY	2609	\$	90.00	\$	234,810.00	\$	170.00	\$	443,530.00	\$	225.00	\$	587,025.00
608118	CONCRETE FILLET - 8"	SY	494	\$	100.00	\$	49,400.00	\$	185.00	\$	91,390.00	\$	240.00	\$	118,560.00
609500	STANDARD CURB & GUTTER	LF	6231	\$	28.00	\$	174,468.00	\$	42.00	\$	261,702.00	\$	55.00	\$	342,705.00
609696	CONCRETE VALLEY GUTTER 8" X 60"	LF	422	\$	100.00	\$	42,200.00	\$	120.00	\$	50,640.00	\$	144.00	\$	60,768.00
609706	CONCRETE LAYDOWN CURB 6"	LF	2732	\$	28.00	\$	76,496.00	\$	41.00	\$	112,012.00	\$	47.00	\$	128,404.00
618000	TRAFFIC CONTROL MANAGEMENT	LS	1	\$	15,000.00	\$	15,000.00	\$	85,000.00	\$	85,000.00	\$	76,000.00	\$	76,000.00
621000	MOBILIZATION	LS	1	\$	20,000.00	\$	20,000.00	\$	306,000.00	\$	306,000.00	\$	100,000.00	\$	100,000.00
623501	TRANSVERSE DROP INLET TYPE I, 0' TO 8'	EA	1	\$	35,600.00	\$	35,600.00	Ş	45,000.00	\$	45,000.00	\$	86,000.00	\$	86,000.00
662400	MANHOLE ADJUSTMENT	EA	13	\$	800.00	\$	10,400.00	\$	900.00	\$	11,700.00	\$	800.00	\$	10,400.00

Page 7 of 12 BID LOT 4

BID LOT 4	TABULATION SHEET					2									
	CDBG Infrastructure Improvemer 21-C-NR-I-01-G-12 6-24	its		R	AMIREZ &	so	NS INC.		CONSTRUC	то	RS INC.	(*)	J&H SERV	/ICE	S INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IIT PRICE	TC	TAL COST		UNIT PRICE	то	TAL COST	UI	NIT PRICE	тс	TAL COST
662500	MANHOLE FRAME AND COVER	EA	13	\$	1,150.00	\$	14,950.00	\$	1,200.00	\$	15,600.00	\$	1,755.00	\$	22,815.00
663855	ADJUST VALVE BOX TO GRADE	EA	7	\$	230.00	\$	1,610.00	\$	750.00	\$	5,250.00	\$	550.00	\$	3,850.00
663890	VALVE BOX WITH COVER	EA	7	\$	1,000.00	\$	7,000.00	\$	350.00	\$	2,450.00	\$	720.00	\$	5,040.00
667004	MISCELLANEOUS LANDSCAPING	LS	1	\$	300.00	\$	300.00	\$	4,500.00	\$	4,500.00	\$	33,000.00	\$	33,000.00
667110	MAILBOX INSTALLATION -SINGLE	EA	37	\$	400.00	\$	14,800.00	\$	600.00	\$	22,200.00	\$	2,750.00	\$	101,750.00
701000	PANEL SIGNS	SF	200	\$	40.00	\$	8,000.00	Ş	47.00	\$	9,400.00	\$	72.00	\$	14,400.00
701100	STEEL POST AND BASE POST FOR PANEL SIGNS	LF	290	\$	20.00	\$	5,800.00	\$	30.00	\$	8,700.00	\$	41.00	\$	11,890.00
701200	TRIANGULAR SLIP BASE SYSTEM	EA	19	\$	350.00	\$	6,650.00	\$	550.00	\$	10,450.00	\$	550.00	\$	10,450.00
801000	CONSTRUCTION STAKING BY THE CONTRACTOR	LS	1	\$	30,000.00	\$	30,000.00	\$	85,000.00	\$	85,000.00	\$	110,000.00	\$	110,000.00
		TOTAL B	SID LOT 4	\$		1,8	41,501.00	9	\$	3,0	68,484.50	\$		3,7	66,433.90

I hereby certify that the above figures are the same as those submitted in the Bid Proposals except for the corrected items marked with and asterisk (\*).

BID LOT 5	TABULATION SHEET														
2021 Hobbs	s CDBG Infrastructure Improvemen	ts													
CDBG No. 2 Bid No. 160	21-C-NR-I-01-G-12 16-24			F	RAMIREZ 8	sc.	NS INC.		CONSTRUC	СТС	RS INC.		J&H SERV	ICE	S INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UI	NIT PRICE	тс	TAL COST	ι	JNIT PRICE	TC	OTAL COST	UI	NIT PRICE	то	TAL COST
203000	UNCLASSIFIED EXCAVATION	CY	3008	\$	14.00	\$	42,112.00	\$	14.00	\$	42,112.00	\$	22.00	\$	66,176.00
203200	SUBEXCAVATION	CY	2847	\$	34.00	\$	96,798.00	\$	45.00	\$	128,115.00	\$	56.00	\$	159,432.00
207000	SUBGRADE PREPARATION	SY	20347	\$	3.00	\$	61,041.00	\$	3.00	\$	61,041.00	\$	3.40	\$	69,179.80
303160	BASE COURSE 6"	SY	20347	\$	7.00	\$	142,429.00	\$	10.00	\$	203,470.00	\$	17.50	\$	356,072.50
408100	PRIME COAT MATERIAL	TON	38	\$	550.00	\$	20,900.00	\$	650.00	\$	24,700.00	\$	1,100.00	\$	41,800.00
423270	2" HMA SP IV COMPLETE	SY	20347	\$	18.00	\$	366,246.00	\$	13.50	\$	274,684.50	\$	21.00	\$	427,287.00
533000	REPAIR OF CONCRETE STRUCTURES	SY	16	\$	750.00	\$	12,000.00	\$	1,200.00	\$	19,200.00	\$	685.00	\$	10,960.00
601000	REMOVAL OF STRUCURES AND OBSTRUCTIONS	LS	1	\$	42,000.00	\$	42,000.00	\$	285,000.00	\$	285,000.00	\$	290,000.00	\$	290,000.00
603281	SWPPP DESIGN, IMPLEMENTATION & MANAGEMENT	LS	1	\$	5,300.00	\$	5,300.00	\$	4,800.00	\$	4,800.00	\$	6,000.00	\$	6,000.00
607199	REMOVE AND REBUILD FENCE	LS	1	\$	20,000.00	\$	20,000.00	\$	25,000.00	\$	25,000.00	\$	45,000.00	\$	45,000.00
608004	CONCRETE SIDEWALK 4"	SY	4096	\$	85.00	\$	348,160.00	\$	130.00	\$	532,480.00	\$	142.00	\$	581,632.00
608106	DRIVE PAD 6"	SY	2829	\$	90.00	\$	254,610.00	\$	170.00	\$	480,930.00	\$	225.00	\$	636,525.00
608118	CONCRETE FILLET - 8"	SY	494	\$	100.00	\$	49,400.00	\$	185.00	\$	91,390.00	\$	240.00	\$	118,560.00
609500	STANDARD CURB & GUTTER	LF	6604	\$	28.00	\$	184,912.00	\$	42.00	\$	277,368.00	\$	55.00	\$	363,220.00
609696	CONCRETE VALLEY GUTTER 8" X 60"	LF	442	\$	100.00	\$	44,200.00	\$	120.00	\$	53,040.00	\$	144.00	\$	63,648.00
609706	CONCRETE LAYDOWN CURB 6"	LF	2958	\$	28.00	\$	82,824.00	\$	41.00	\$	121,278.00	\$	47.00	\$	139,026.00
618000	TRAFFIC CONTROL MANAGEMENT	LS	1	\$	15,000.00	\$	15,000.00	\$	95,000.00	\$	95,000.00	\$	76,000.00	\$	76,000.00
621000	MOBILIZATION	LS	1	\$	23,000.00	\$	23,000.00	\$	330,000.00	\$	330,000.00	\$	100,000.00	\$	100,000.00
623501	TRANSVERSE DROP INLET TYPE I, 0' TO 8'	EA	1	\$	35,600.00	\$	35,600.00	\$	45,000.00	\$	45,000.00	\$	86,000.00	\$	86,000.00
662400	MANHOLE ADJUSTMENT	EA	13	\$	800.00	\$	10,400.00	\$	900.00	\$	11,700.00	\$	800.00	\$	10,400.00

Page 9 of 12 BID LOT 5

	s CDBG Infrastructure Improvemen 21-C-NR-I-01-G-12 06-24	ts		F	RAMIREZ &	so	NS INC.	CONSTRUC	то	RS INC.		J&H SERV	/ICE	S INC.
ITEM NO.	DESCRIPTION	UNIT	QTY	UI	NIT PRICE	то	TAL COST	UNIT PRICE	то	TAL COST	UI	NIT PRICE	то	TAL COST
662500	MANHOLE FRAME AND COVER	EA	13	\$	1,150.00	\$	14,950.00	\$ 1,200.00	\$	15,600.00	\$	1,755.00	\$	22,815.00
663855	ADJUST VALVE BOX TO GRADE	EA	7	\$	230.00	\$	1,610.00	\$ 750.00	\$	5,250.00	\$	550.00	\$	3,850.0
663890	VALVE BOX WITH COVER	EA	7	\$	1,000.00	\$	7,000.00	\$ 350.00	\$	2,450.00	\$	720.00	\$	5,040.0
663944	SANITARY SEWER SERVICE LATERAL – 4"	LF	108	\$	35.00	\$	3,780.00	\$ 95.00	\$	10,260.00	\$	50.00	\$	5,400.0
663965	SANITARY SEWER SERVICE CONNECTION – 4"	EA	14	\$	500.00	\$	7,000.00	\$ 2,800.00	\$	39,200.00	\$	2,000.00	\$	28,000.00
667004	MISCELLANEOUS LANDSCAPING	LS	1	\$	300.00	\$	300.00	\$ 4,500.00	\$	4,500.00	\$	33,000.00	\$	33,000.00
667110	MAILBOX INSTALLATION -SINGLE	EA	47	\$	400.00	\$	18,800.00	\$ 600.00	\$	28,200.00	\$	2,750.00	\$	129,250.0
701000	PANEL SIGNS	SF	200	\$	40.00	\$	8,000.00	\$ 47.00	\$	9,400.00	\$	72.00	\$	14,400.00
701100	STEEL POST AND BASE POST FOR PANEL SIGNS	LF	290	\$	20.00	\$	5,800.00	\$ 30.00	\$	8,700.00	\$	41.00	\$	11,890.00
701200	TRIANGULAR SLIP BASE SYSTEM	EA	19	\$	350.00	\$	6,650.00	\$ 550.00	\$	10,450.00	\$	550.00	\$	10,450.00
801000	CONSTRUCTION STAKING BY THE CONTRACTOR	LS	1	\$	35,000.00	\$	35,000.00	\$ 95,000.00	\$	95,000.00	\$	117,500.00	\$	117,500.00
		TOTAL E	BID LOT 5	\$		1,9	65,822.00	\$	3,3	35,318.50	\$		4,0	28,513.30

I hereby certify that the above figures are the same as those submitted in the Bid Proposals except for the corrected items marked with and asterisk (\*).

fold tandell

BID LOT 6	TABULATION SHEET												
2021 Hobbs	s CDBG Infrastructure Improvemen												
CDBG No. 2 Bid No. 160	21-C-NR-I-01-G-12 06-24	RAMIREZ 8		CONSTRUC	RS INC.	J&H SERVICES INC.							
ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	TOTAL COST	$\  \ $	UNIT PRICE	то	TOTAL COST		NIT PRICE	то	TAL COST
203000	UNCLASSIFIED EXCAVATION	СУ	3508	\$ 14.00	\$ 49,112.00		\$ 14.00	\$	49,112.00	\$	22.00	\$	77,176.00
203200	SUBEXCAVATION	CY	3191	\$ 34.00	\$ 108,494.00		\$ 45.00	\$	143,595.00	\$	56.00	\$	178,696.00
207000	SUBGRADE PREPARATION	SY	23289	\$ 3.00	\$ 69,867.00		\$ 3.00	\$	69,867.00	\$	3.40	\$	79,182.60
303160	BASE COURSE 6"	SY	23289	\$ 7.00	\$ 163,023.00		\$ 10.00	\$	232,890.00	\$	17.50	\$	407,557.50
408100	PRIME COAT MATERIAL	TON	43	\$ 550.00	\$ 23,650.00	$\prod$	\$ 650.00	\$	27,950.00	\$	1,100.00	\$	47,300.00
423270	2" HMA SP IV COMPLETE	SY	23289	\$ 18.00	\$ 419,202.00	$\coprod$	\$ 13.50	\$	314,401.50	\$	21.00	\$	489,069.00
533000	REPAIR OF CONCRETE STRUCTURES	SY	16	\$ 750.00	\$ 12,000.00		\$ 1,200.00	\$	19,200.00	\$	685.00	\$	10,960.00
601000	REMOVAL OF STRUCURES AND OBSTRUCTIONS	LS	1	\$ 49,000.00	\$ 49,000.00		\$ 340,000.00	\$	340,000.00	\$	327,000.00	\$	327,000.00
603281	SWPPP DESIGN, IMPLEMENTATION & MANAGEMENT	LS	1	\$ 5,500.00	\$ 5,500.00		\$ 6,200.00	\$	6,200.00	\$	6,000.00	\$	6,000.00
607199	REMOVE AND REBUILD FENCE	LS	1	\$ 20,000.00	\$ 20,000.00		\$ 25,000.00	\$	25,000.00	\$	45,000.00	\$	45,000.00
608004	CONCRETE SIDEWALK 4"	SY	4788	\$ 85.00	\$ 406,980.00		\$ 130.00	\$	622,440.00	\$	142.00	\$	679,896.00
608106	DRIVE PAD 6"	SY	3123	\$ 90.00	\$ 281,070.00	floor	\$ 170.00	\$	530,910.00	\$	225.00	\$	702,675.00
608118	CONCRETE FILLET - 8"	SY	532	\$ 100.00	\$ 53,200.00	$\prod$	\$ 185.00	\$	98,420.00	\$	240.00	\$	127,680.00
609500	STANDARD CURB & GUTTER	LF	7794	\$ 28.00	\$ 218,232.00		\$ 42.00	\$	327,348.00	\$	55.00	\$	428,670.00
609696	CONCRETE VALLEY GUTTER 8" X 60"	LF	465	\$ 100.00	\$ 46,500.00	$\prod$	\$ 120.00	\$	55,800.00	\$	144.00	\$	66,960.00
609706	CONCRETE LAYDOWN CURB 6"	LF	3313	\$ 28.00	\$ 92,764.00		\$ 41.00	\$	135,833.00	\$	47.00	\$	155,711.00
618000	TRAFFIC CONTROL MANAGEMENT	LS	1	\$ 15,000.00	\$ 15,000.00	$\  \ $	\$ 110,000.00	\$	110,000.00	\$	76,000.00	\$	76,000.00
621000	MOBILIZATION	LS	1	\$ 27,000.00	\$ 27,000.00		\$ 387,000.00	\$	387,000.00	\$	100,000.00	\$	100,000.00
623501	TRANSVERSE DROP INLET TYPE I, 0' TO 8'	EA	1	\$ * 35,600.00	\$ * 35,600.00		\$ 45,000.00	\$	45,000.00	\$	86,000.00	\$	86,000.00
662000	MANHOLE TYPE C 4' DIA (0' TO 6') DEPTH	EA	2	\$ 6,500.00	\$ 13,000.00		\$ 12,000.00	\$	24,000.00	\$	800.00	\$	1,600.00
662400	MANHOLE ADJUSTMENT	EA	14	\$ 800.00	\$ 11,200.00	11	\$ 900.00	\$	12,600.00	\$	1,755.00	\$	24,570.00

Page 11 of 12 BID LOT 6

BID LOT 6 TABULATION SHEET																
2021 Hobbs CDBG Infrastructure Improvements CDBG No. 21-C-NR-I-01-G-12 Bid No. 1606-24				RAMIREZ & SONS INC.				CONSTRUCTORS INC.					J&H SERVICES INC.			
ITEM NO.	DESCRIPTION	UNIT	QTY	UN	IT PRICE	TC	TAL COST		UNIT PRICE	то	TAL COST	UNIT PRICE		TOTAL COST		
662500	MANHOLE FRAME AND COVER	EA	14	\$	1,150.00	\$	16,100.00		\$ 1,200.00	\$	16,800.00	\$	550.00	\$	7,700.00	
663855	ADJUST VALVE BOX TO GRADE	EA	11	\$	230.00	\$	2,530.00		\$ 750.00	\$	8,250.00	\$	720.00	\$	7,920.00	
663890	VALVE BOX WITH COVER	EA	11	\$	1,000.00	\$	11,000.00		\$ 350.00	\$	3,850.00	\$	775.00	\$	8,525.00	
663944	SANITARY SEWER SERVICE LATERAL – 4"	LF	163	\$	35.00	\$	5,705.00	:	\$ 100.00	\$	16,300.00	\$	50.00	\$	8,150.00	
663948	SANITARY SEWER PIPE – 8"	LF	464	\$	65.00	\$	30,160.00		\$ 105.00	\$	48,720.00	\$	60.00	\$	27,840.00	
663965	SANITARY SEWER SERVICE CONNECTION – 4"	EA	16	\$	500.00	\$	8,000.00	9	\$ 3,000.00	\$	48,000.00	\$	2,000.00	\$	32,000.00	
667004	MISCELLANEOUS LANDSCAPING	LS	1	\$	40.00	\$	40.00		\$ 4,500.00	\$	4,500.00	\$	34,000.00	\$	34,000.00	
667110	MAILBOX INSTALLATION -SINGLE	EA	54	\$	20.00	\$	1,080.00		\$ 600.00	\$	32,400.00	\$	2,750.00	\$	148,500.00	
701000	PANEL SIGNS	SF	220	\$	350.00	\$	77,000.00		\$ 47.00	\$	10,340.00	\$	72.00	\$	15,840.00	
701100	STEEL POST AND BASE POST FOR PANEL SIGNS	LF	320	\$	20.00	\$	6,400.00	Ş	\$ 30.00	\$	9,600.00	\$	41.00	\$	13,120.00	
701200	TRIANGULAR SLIP BASE SYSTEM	EA	21	\$	350.00	\$	7,350.00		\$ 550.00	\$	11,550.00	\$	550.00	\$	11,550.00	
801000	CONSTRUCTION STAKING BY THE CONTRACTOR	LS	1	\$	39,500.00	\$	39,500.00	Ŀ	\$ 105,000.00	\$	105,000.00	\$	135,000.00	\$	135,000.00	
		TOTAL B	SID LOT 6	\$	*	* 2,325,259.00			\$	3,8	92,876.50	\$		4,5	67,848.10	

I hereby certify that the above figures are the same as those submitted in the Bid Proposals except for the corrected items marked with and asterisk (\*).

Told Landell

